Algebra 3/Trig—Dieckmann


     Name: ___________________________________

HWK #2: Writing Equations and Graphing Due 5/9

Find the value of x or y so that the line passing through the given points has the given slope.
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Write an equation in slope-intercept form that describes each graph below.
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Graph each of the following using the slope and y- intercept.
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Write an equation in slope intercept form, given a slope and a y-intercept OR given 2 points.

9. Passes through
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Write an equation of a line given the following information. 

12.  Perpendicular to the line [image: image12.png]y=—2x—1



 and passing through [image: image14.png](3,1).




13. Parallel to [image: image16.png]y =3 x+5



 and passing through the point [image: image18.png](—6,7).




14.  Decide whether Line 1 and Line 2 are parallel, perpendicular, or oblique (neither).  Explain your reasoning.

Line 1 passes through [image: image20.png](—6, —4)
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Line 2 passes through [image: image24.png](4,6)
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15.  Decide whether Line 1 and Line 2 are parallel, perpendicular, or oblique (neither). Explain your reasoning.

Line 1 passes through [image: image28.png](—3,9)
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Line 2 passes through [image: image32.png](-9,1)
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